Organic Chemistry [ (CHEM 340) Fall 15 Dr.Hahn  MWF 11am Quizl Form A Exam=

Sign Name ](/46/1’\ Print Name

Please show work on zll que;nons for partial credit even on questions which do not s Demfy (25 total pts)
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Number of VSEPRT electron pairs around the atom with the * é’ {
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VSEPRT molecular geometry for the atom with the * }9 W‘ (2 pts)
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b. Number of lone pairs around the atom with the
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Organic Chemistry [ (CHEM 340} Fall 15 Dr. Hahn MWF 1iam Quizl Form B Exam#
Sign Name M Print Nam_e !p { [k

Please show work on all questions for partial credit even on questions which do not specify. (25 total pts)

1. a. For the element Sn show the electron configuration for all electrons in the format 1s%, 252, ...
etc (2pts each letter, 12 pts total) [ § Z A ; L

4p© S5h b ’

b. For the same eiement show the elecf n conﬁ

v 4 agrows to represent electrons.
Is 2 &ff/ i i\ —
5 5

d. For the same element, what is the group number ? é & e. what is the atomic mass ?

i \ {li ”“O f.  what is the atomic number ? 9 O

2. Give the symbol of one element which belongs to the “d block” of the perjodic
table. Nl (2pts) f} . ‘73 to 28 w /)
) ]

3 - Given the following Lewis dot %Mich is the correct Lewis Dot structure? Circle the letter
under the correct structure and then give at gne reasen why the wren structure is inco

. choice, 4 pts explanation) e:. -+ ;(4.@) +@ @_) + }C{ b
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Given the t}HO\{vmg Lewis Dot structure, do VSEPRT
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a. Number of VSEPRT electron pairs around the atom with the * ; (1pt (:, (/‘i{%qij ﬂf)

b. Number of lone pairs around the atom with the * &€ 0 {tpt)

c. VSEPRT molecular geometry for the atom with the * f"“‘{ QM{' /D / a N~ (2 pts)
Extra Credit: Gii’x_;en thfia{zollovifg, gnv% the skELetal struo’rure VVthh corresponds (2 pts)

—_— —— ""“'C\ — )
N G
H&Q*’f# H:»(%—ﬂﬁ‘




Organic Chemistry I (CHEM 340) Fall 15 Dr. Hahn MW 3pm  Quiz ] Exam#

Sign Name K g 1A Print Name
Please show work on all q@tiong for partial credit even on questions which do not specify. (25 total pts)

1. a For the element As show the electron conﬁuuration for all electrons i m the format 1s?, 257, ...

etc (2pts each letrer, 54{/ /_jL {ZF / ?jz % 452; %6{73

trons in the same format.

b. For the same elems ) i valence

l

c. For the same element, shhw the alency electron configurdt T fagram in the format;
1Y A etc} using up and down s. /4 !/ 7 1

s 2s 4‘5 4-—17/‘3
d. For the same element, what is the group number ?  J A" e. what is the atomic mass ?
N0 : . ‘
q & j - £ whatis the atomic number ? ’% }
2. Give the symbol of one element which belongs to the “p block™ of the periodic

; S Aot 2, /o i ,é; ,
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3 Given the following Lewis dot structures, which is the correct Lewis Dot structure? Circle the letter
under the correet structure and then give at one reason why the wrong structure is incorrect. (9 pts, 5 pts

m
choice, 4 pts explanation) S /—J .
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3 Given the following Lewis Dot structure, do VSEPRT
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a. Number of VSEPRT electron pairs around the atom with the * 2’ (1 pt) / %\?‘{ “€ })

b. Number of lone pairs around the atom with the * 2 a’;-__f'l‘ (1 pt)

c. VSEPRT molecular geometry for the atom with the * 3 v M?’\,Jy{ IM&’_ 4 2 pts)
TR
Extra Credit:  Given the following skeletal structure Otite the ling bond Stm/cé;!é W]:iich corresponds. (2 pts)
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Organic Chemistry [ (CHEM 340) Fail 15 Dr.Hahn MWF 1lam Quiz! Form A Exam #

Sign Name ‘ Print Name

Please show work on all questions for partial credit even on questions which do not specify. (25 total pts)

L. a. For the element Se  show the electron configuration for all electrons in the format 1%, 25%, ...
etc (2pts each letter, 12 pts total)

b. For the same element show the electron configuration for all valence electrons in the same format.

c. For the same element, show the valence electron configuration orbital diagram in the format:

{A 2 4 etc} using up and down arrows to represent electrons.

Is 2s
d. For the same element, what is the group number 7 e. what is the atomic mass ?
f.  what is the atomic number ?
2. Give the symbol of one element which belongs to the “s block™  of the periodic
table. (2 pts)
3 Given the following Lewis dot structures, which is the correct Lewis Dot structure? Circle the letter

under the correct structure and then give at one reason why the wrong structure is incorrect. (9 pts, 5 pts
choice, 4 pts explanation)
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4, Given the following Lewis Dot structure, do VSEPRT
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a. Number of VSEPRT electron pairs around the atom with the * (1 pt)

b. Number of lone pairs around the atom with the * (1 pt)

c. VSEPRT molecular geometry for the atom with the * (2 pts)

Extra Credit: Given the following, give the sketetal structure which corresponds. (2 pts)
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Organic Chemistry [ (CHEM 340) Fall 15 Dr. Hahn MWF 1lam Quizl FormB Exam#

Sign Name Print Name

Please show work on all questions for partial credit even on questions which do not specify. (25 total pts)

1. a. For the element Sn  show the electron configuration for all electrons in the format 152 252 ...
etc (2pts each letter, 12 pts total)

b. For the same element show the electron configuration for ail valence electrons in the same format.

c. For the same element, show the valence electron configuration orbital diagram in the format:

{1V 1 etc} using up and down arrows 1o represent electrons.

Is 2s

d. For the same element, what is the group number ? ¢. what is the atomic-mass ?

f.  what is the atomic number 7

2. Give the symbeol of one element which belongs to the “d block™ of the periodic
table. (2 pts)
3 Given the following Lewis dot structures, which is the correct Lewis Dot structure? Circle the letter

under the correct structure and then give at one reason why the wrong structure is incorrect. (9 pts, 5 pts
choice, 4 pts explanation) :
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3. Given the yloving Lewis Dot structure, do VSEPRT

e~

a. Number of VSEPRT electron pairs around the atom with the * (1 pt)
b. Number of tone pairs around the atom with the * {1pt)
c. VSEPRT molecular geometry for the atom with the * (2 pts)

Extra Credit: Given the following, give the skejetal structure which corresponds. (2 pts)
t i ’% LT



Organic Chemistry I (CHEM 340) Fall 15 Dr.Habn MW Spm Quzl Exam #

Sign Name Print Name

Please show work on all questions for partial credit even on questions which do not specify. (25 total pts)

1. a. For the element As show the electron configuration for all electrons in the format 15, 252, ...
etc (2pts each letter, 12 pts total)

b. For the same element show the electron configuration for all valence electrons in the same format.

c. For the same element, show the valence electron configuration orbital diagram in the format:

{1k A etc} using up and down arrows to represent electrons.

Is 2s

d. For the same element, what is the group number ? e. what is the atomic mass ?

f.  what is the atomic number ?

2. Give the symbol of one element which belongs to the “p block™ of the periodic
table. (2 pts)
3 Given the following Lewis dot structures, which is the correct Lewis Dot structure? Circle the letter

under the correct structure and then give at one reason why the wrong structure is incorrect. (9 pts, 5 pts
choice, 4 pis explanation)
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3. Given the following Lewis Dot structure, do VSEPRT

N o "
T
a. Number of VSEPRT electron pairs around the atom with the * (1 pt)
b. Number of lone pairs around the atom with the * (1 pH
c. VSEPRT molecular geometry for the atom with the * (2 pts)

Extra Credit: Given the following skeletal structure give the line bond structure which corresponds. (2 pts)
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